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18)

19)

20)

21)

22)

23)

24)

25)

26)

TIROROTH TINR ATEFTVOT WOW (X, Y) NONTVT BT,

A)d=x*ty? B)d=vx*—y? ¢) d =vx*+y? D) d=x*-y*
A A

blovyanioial 8, 2,00 T TOOW, 5@% NN

20T ©OWERET SEPBVJTZ, YVOLRBJRAT TON® 1y B

B[O F0F NN IOTVROHR 60° FeSBI, 1?3)‘1

PUOLDT/IAT ) FTT DOOIN TNTT LNB/HOT g

2080¢ Cifadcj@’ccﬁbd, TNOT PN WF303N. 3

A)40V3 ane B)‘;_ime

C) (40 + 3)aoe D) 40 aoe v

ATerTo0T WOTNTRT A(2, 3) 3= B (6, 6) 1¢ IBOT Tedy)
A)5ReomRs  B)7Rwosmd COV7 zweoses D) V5 mwosns

ATeFTROT WOTDNRYRT (2, 3) D (4, )N WG, WO QTIeETROTNAD
A)(-3.-5) B) (6, 10) C) (-6,-10) D)(3.,5)

A(0,4) B)(3,0) 3% C) (4, 6)risd AABC o 3,01 2omrvend AABCodh Daerers

A)22cm? B) 1lem? C) 44cm? D) l4cm?
10,17, 18,13, 15 85 &003n¢ mmsoﬁ@
A)17 B) 18) Q)15 D) 13

WBNEFTZ TITYOSNY BToRO X=8 RFTWOINY 2., 88 2x=120 STT pmosne 0aJodn
A)12 B) 10 C)8 D) 15

BNeFFZ TITVOINE TR0 (X)TY, FORLROINT BHTH)

A) -_ ZfX B)—: Zﬁ
L DY
C)x=2Xfx, xXf| D)X =Xfx, —Xf,

100-120 83 RMRF 03T mqsé 2O
A) 100 B) 110 C) 105 D) 120
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27)

28)

29)

30)

31)

AABCo»Q DE [[BCsNT), 83 3¢NIPNYQ B0Be0TT ZowoTw)

AD AE AD AE A
AAD _AE - AD _ AE
)DB ~EC ) AB " AC
C) D) D E
AD _ DE AD _ AE
AB _ BC EC DB
B C
A ABC ~ A DEF AG), % =% STS, © SHUNT DARFAOADT HTOIH,

A)9:4 B)4:9 C)4:6 D) 6:4

w¥2RQ ‘O’ FIT 8e0T WOTDTT
BB SeTER),

A)OA B)PB

C)PC D)DE

$3RY ‘O’ 3e0BANT FFTY
AB =3%0.c0¢, DE=4%0.50¢. =33
BDo® evg3y

" g
A)4dcm B) 7cm B o
C) 12cm D)3cm
) “ )
AB=6cm 2t desmo OB/, 3:2 OTVITY DgONATON, &3 FNTRYNYY OOSTA
3333 8@9&%@0@,

B)

0
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32)

33)

34)

35)

36)

37)

38)

39)

40)

5H0.a0¢ SRATHT TF, $0BHOT 1350.00¢ BROBIHR 703, VOIS 7333, FFFIF,
Sua0 ©n AIFET WGP
A) 11 Fo.ane B) 12 %o.an¢ C) 12.5%0.20¢ D) 12.8%0.50¢

4%0.20¢ SROTOHT FITY ATFING IWT 30es 607 QTTOZ FBF FTW IIFT DFOT.
& ATFIT TR

A)2 em B) 8V3 cm C)4\3 cm D) 6 \Bem

88 FNIYNYY wowdees SERTJI), YOOLDTITWI ﬁdmr{raeaow EWPOIV v
A)24cm, 7cm, 26cm B) 23cm, 7cm, 25cm

C) 24cm, 9cm, 25¢cm D) 24cm, 7cm, 25cm

‘0’ $eoz00s BFHY BCm@mons
|ABC = 50° 5553 | BCA 03 @9930i0
A) 40° B) 50°

C) 90° D) 60°

RRYT Toor DeY ) DYCCF TR, FOBLRRNT ARTH)
A) mr? B) 3mr? C) 2mr? D) 4nr?

33 ITBB ADOBOT TTWES TOHOIN 44 F0.c0e BB TP 10 F0.cwe. BTT WTT TOIJF
ﬁaeeﬁw DRLEDFTY)
A)220 3. Bo.aoe B)440 3. Fo.qwe C)44 2. Bo.cwe D)0 23. Bo.ave

BT &%, BB DT ATVWONT .00 JeT FITT JoW TR [T [T T3
RADOTOT FTFIPONS WNTRIR)
A)1:3 B) 1:9 C)9:1 D)3:1

2T ‘h’ DB &8 2T " 8NHT 0B RIFS TOIF d)eeﬁw DACEDF [T, FOTIROII
223D
A)m (r+1)l B) 7 (r—1)l C) n(r +r)1 D) mt+(r +r )l

6cm, 8cm 0B 10cm SRNTDd, BRODTT! CReBT 3 NREFNTRY, 30N, WOl SRETT
RRCYTI), SRR, el YVORT TRA NRETT SR

A) 12 Bo.q0¢ B) 10 %o.a0¢ C) 13 Bo.qoe D) 11 %o.20¢

sfoskeosk skeosk sk sk
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BLOCK EDUCATION OFFICE, MANGALORE
SSL.C. EXAMINATION - 2021

Model M.C.Q. Question Paper (01)
(Answer Key) (Kannada)

Time: 1hrs Marks: 40
Do Ax=2.y=2 21) A) (42)
2) Ox=7,y=3 |
22) B)E [x,(¥,7y,) + X,(¥57Y,) + X,(y,-y,)]
3) D) 5x2-16x+12=0
4) B)3x+5y=25and 23) €)40-60
6x+10y=50 24) D) 16
5) B)27 25) D) 56
0 AP 26) A) 8%0.a0¢, 10%0.00¢, 1250.00
7) D)1l and 19 ) A) 8F0.e0¢, 1050.20¢, 1250.00¢
7 o AR A
8) O)5 ) O B~ o
9) C) Sn=n(n+1)
— 28) B)7:9
10) D)i% 29) B)3ncs, 8063, 306
11) B) ax*+bx+c=0 30) C)60°
12) A)-10x and -6x 31) B)70°
13) D) 8+;=X 32) D) ©owdecs
14) A)|Q=60° 33) B)CD
15) C) 64 34) C) 24 Fo.a0¢
225
35) D) 450.50¢
16) D) 2
36) D) 308 23.50.a0¢
17) B) 10cm
37) B) 2nr’+2nrh
18) D) Tan® = Sin6
Cos 38) A)%nh (r 2411
19) B) 4 siogiried 39) C) 15435 oo
20) B)\3 Snanw

40) D) 6%0.a5¢
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BLOCK EDUCATION OFFICE, MANGALORE

S.S.L.C. EXAMINATION - 2021
Model M.C.Q. Question Paper (02)

(Answer Key)
Time: 1hrs ngég Marks: 40
) A)x=6,y=3 21) C) 53RIND
2) C)x=8,y=3 22) B)[mﬁiix‘ mgjinm;y‘]
3)  B)x2-12x-20=0 23) C)25-35
4)  B)x+2y=4 =3 2x+dy=12 24) D)7
5) B)33 25) D)33
6) A)120 26) A)4cm
7) D)9m3 21 27) C)1.5cm
8) (O)7 28) 12.5cms
9) Q) snz% [a+a ] 29) B) 55
10) D) i% 30) C) 50 ooe
11) B)x= -b+\b> - 4ac 31) B)55°
12) A)—lem?ngZx 32) D)x=moss
13) C)—4 33) B)AB
14) A)45° 34) C)6cmn3y 4 cm
15) C)% 35) D)3cm
16) D) 60° =z 30 36) A)% _—
17) 10cm 37) B)%nr2h+%nr3
18) D) Cot’0+1=Cosec’0 38) A)7cm
19) B)d=Vx*ty? 39) C)25cm
20) C) 5 =3nsd 40) D)616cm?
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BLOCK EDUCATION OFFICE, MANGALORE

Time: 1hrs

SSL.C. EXAMINATION - 2021

Model M.C.Q. Question Paper (03)
(Answer Key) (Kannada)

) A)x=4,y=2
2) B)48

3) D)990

9 O [ara]

5) A6

6) D)16

7 A aoﬁémmgd
8) O

9) B)x=2,y=2
10) A)8

11) O) 1

12) D) 3x*—4x+5=0
13) B) x=3, x=%
14) B)-31
15) A) 2
16) B) 2

) B) >

17) C) 60°

18) c¢) d =V x2+y2
19) d) 40 mt

20) A) 5units
21) A) 5units
22) B) llcm?
23) C)15

Marks: 40
25) A :ZfiXi
) A) =g
26) B) 110
AD _DF
20 C) BB = BC
28) B) 4:9
29) D) DE
30) B) 750.aw¢
31) C)
Ba
['}]
o
al
fs

(Y

32) B) 12%0.¢0¢

33) C) 43 30.a0¢

34) D) 2450.20¢, T50.80¢, 25%50.50¢
35) A)40°

36) D) 4nr?

37) B) 44k, Bo.one

38) A) 13

39) A) m(r+r)l

40) A) 1250.20¢
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DDPI OFFICE - DK MANGALORE - BEO OFFICE
MANGAL ORE NORTH
2020-21 SSLC EXAMINATION
MCQ BASED MODEL PAPER - 1

('SUBJECT: MATHEMATICS (MEDIUM ENGLISH) )

Subject Code : 81E Time : 1Hour
Total Questions : 40 Max Marks : 40

Note: Four choicesaregiven for each of thequestion /incomplete statements. Choose
the correct answers and shade the correct choice in the OMR given to you
with blue/black ball point pen.

1) Thevaueof x andy inthe linear equation 2x-y=2is

A)x=2y=2 Byx=2,y=-2
C)x=-2,y=-2 D)x=-2,y=2

2) Solving the pair of linear equations x+y=10 and 2x-y=11 the value of x and 'y will be
A)x=7,y=-3 Byx=-7,y=-3
C)x=7,y=3 D)x=-7,y=3

3) Thestandard form of the quadratic equation 5x?-4(4x-3)=0is
A) 5x2-16x-3=0 B) 5x*+16x-12=0
C) 5x?-16x-12=0 D) 5x?-16x+12=0

4) Thepair of linear equations which form coincident lines are
A) x -2y = 0 and 3x+4y=20 B) 3x+5y=25 and 6x+10y=50
C) x -2y =4 and 2x+4y=12 D) x +y = 8 and x-y=4

5) InanA.P.sumof first 21 terms and sum of first 20 terms are 512 and 485 respectively
then the 21st termis

A) 72 B) 27

C) 37 D) 28
6) The18thtermof anA.P.5,7,9,11------ is

A) 39 B) 93

C) 36 D) 37
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7) 1f 7, 4,15, b are the consecutive terms of an A.P. then value of aand b will be

A)10 and 18 B)9 and1
C)8 and 10 D) 11 and 19
8) 2,a8aeinA.P.thevaueof a is
A) -6 B) 6
C5 D)4
9) Sum of n positive whole numbersis
A) Sn=n(2n+1) B) Sn=n(n-1)
2 2
C) Sn=n(n+1) D) Sn=n(n+2)
2 2

10) Theroots of the Quadratic Equation. 25x2-64=0is

At 5 B)i/g

8
64 8
C)+ 75 D)t 5§
11) Standard form of the quadratic equation is
A) ax*+bx-c=0 B) ax?+bx+c=0
C) ax®-bx+c=0 D) ax2-bx-c=0

12) On solving the quadratic equation 5x3-16x+12=0 by factorisation method, the middle
term-16x can be split as

A) -10x and -6x B) -15x and +4x
C)+10x and -6x D) +15x and -4x
13) Quadratic equation among the following is
A) X?+5x+3=x2+4x B) 5x-20=0
4 _ S _
C)x+§—x2 D) 8+% =X

14) Inthegiven figurd P =90, if tanQ =% sT3| Q8 Bgoid R
3
A) 60° B) 15°

0 0
C) 45 D) 30 5 o
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15)

16)

17)

18)

19)

20)

Coto= 8 , then (Cosec?6-1) will be

15
A) 8 B) 15
15 8
& 25
C) 225 D) 64

The value of Tan45°+Cot45°is

1 1
A) = B) 5
C) V2 D) 2

Asshowninthefigure, InAABC,| B =90°% AC=20cm and |C=30° then the length of
AB will be

A) 30cm B) 10cm A
C) 20cm D) 40cm 5 20cm
B- C
The correct relation among the following is
A) Cot6 = Sin6 B)Cosec6 = 1
Cosh Cost

C)Seco = 1 D)tan®6 = Sino

Sin6 @
The distance of the cordinate point (5,4) from the x axisis
A) 3 units B) 4 units
C) 9 units D) 5 units

Distance between the pointsA(4,5) and B(3,7) is
A) 25 units B) V3 units
C) V5 units D) 5 units
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21)

22)

23)

24)

25)

In the given graph; If "C’ isthe mid point of AB then the coordinates of Point "C’ is

A) (42) B) (24) sl 869
0) (-42) D) (4:-2) 21 M
o123 45 6

Areaof the triangle formed by itsverticesA(x,,y,), B(X,, ¥,), C(X,, ¥,) is
A) 2D + X 05Y,) + X4,

B)%[Xj_(yz-yg,) + Xz(y3-y1) + X3(y1-y2)]
O - XYY - Xy,¥,)

D)%[xl(y;yg) XYY - XYY,

Inthefollowing frequency distribution tablethe classInterval which containsthe median
IS

ClassInterval Frequency

0-20
20-40
40-60
60-80
80-100

A L O W DN

A) 0-20 B) 20-40

C) 40-60 D) 60-80

Mode of the following data 14, 18, 10, 12, 16, 18, 17 is

A) 18 B) 17

C) 14 D) 16

It the median and mean of agiven frequency distribution is 52 and 50 respectively then
the mode will be

A) 52 B) 50

C) 54 D) 56
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26)

27)

28)

29)

30)

31)

32)

Among the following, the dimensions which do not form aright angled triangle
A) 8cm, 10cm, 12cm B) 7cm, 24cm, 25cm
C) 6cm, 8cm, 10cm D) 3cm, 4cm, 5¢cm

In AABC if DE||BC, then the incorrect relation among the following is

AD _ AE AD _ AE A
A) 22 - AE B) &2 - AE

DB EC AB AC

AD _ AE DE _ AE P E
C) EC " DB D) BC ™ AC 5 c

A ABC ~ A PQR, if ratio of thier areasis 49:81 then the ratios of their corresponding
sidesis

A) 35 B) 7:9

C) 97 D) 5:3

“Intwo trianglesif the corresponding angles are equal and ratio of their coressponding
sides are equal then the two triangles are similar”.

The Criterion which is used to proove this statement

A) A.S.A Criterion B) A.A.A Criterion
C) S.A.S Criterion D) S.S.SCriterion

Theangle of elevation of the sun if theratio of thelength of thetreeand its shadow is
13is

A) 30° B) 45°

C) 60° D) 90°

Inthefigure,|POQ =110°. If "O’ isthe centre of thecircle and TP, TQ are tangentsto it
then measure of|[PTQ is R
A) 80° B) 70°
C) 110° D) 60°

A Tangent is drawn to acircle at a point. So the angle formed by the tangent with the
radius at the point of contact is
A) Acute angle B) Obtuse angle

C) Straight angle D) Right angle
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33)

34)

35)

36)

37)

38)

Inthegiven figureif "O’ isthe centre of thecircle
then the secant to the circleis

A)XY B) CD
C) DB D) OA

A tangent is drawn to acircle radius 7cm from an external point which is 25cm away
from the centre of the circle. The length of the tangent by calculationis

A) 26cm B) 32cm
C) 24cm D) 25cm

In acircle of radius 4cm if the angle between the tangents to the circle is 90° then the
length of the tangent is

A) 2cm B) 8cm
C) 6cm D) 4cm

Curved surface Area of a hemisphere whose radiusis 7cm will be

A) 308cm? B) 616cm?

C) 154cm? D) 308cm?

Formulato find the total surface area of the given solid= /\
A) % nr+2mrh B) 2nr2+2nrh

C) 4nr’+2nrh D) nr*h+2nr? h :

Formulato find the volume of afrustum of aconewhere heightis h’ and slant height
is’l’
A) % h (r >+ 41, X 1))

B) % mth (r 4171 Xr)
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39)

40)

C) % mh (r 2=r2,+r Xr.)
1h (r 2412 -r xr
D) § T 1 21 2)
If the Area of the circular base of aright cylinder is 38.5cm? and height 4cm then its
volume will be
A) 77cm? B) 154cm?
C) 154cm? D) 77cm?®

A cone prepared from clay of height 24 cm and radius 6cm. If achild convertsit into a
sphere then the radius of the newly formed sphere

A) 8cm B) 7cm
C) 5cm D) 6cm
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DDPI OFFICE - DK MANGALORE - BEO OFFICE
MANGALORE NORTH

2020-21 SSLC EXAMINATION
MCQ BASED MODEL PAPER -2

( SUBJECT: MATHEMATICS (MEDIUM ENGLISH))

SubjectCode : S8IE Time : 1Hour
Total Questions : 40 Max Marks : 40

Note: Four choices are given for each of the question / incomplete statements. Choose
the correct answers and shade the correct choice in the OMR given to you with
blue/black ball point pen.

1) The values of x and y which can be equated in the linear equation x+2y=12 are

A)x=6,y=3 B)x=-6,y=3
C)x=-6,y=-3 dyx=6,y=-3

2) Onsolving the pair of linear equations x +y =11 and x — 2y =2 the values of x and y will be
A)x=8, y=-3 B)x=-8,y=-3
C)x=8,y=3 D)x=-8,y=3

3) The standard form of the quadratic equation x*> — 4(3x+5)=0is
A) x>—12x+5=0 B) x2-12x-20=0
C) x*+12x-20=0 D) x*—12x+20=0

4)  Among the following the pair of linear equations which are paralled is
A) x+y=8 and 2x-y =10 B) x+2y=4 and 2x+4y=12
C) x+y=5 and x-2y=-7 D) x+3y=8 and 2x+6y=16

5) Inan A.P. sum to first 28 terms and sum to first 27 terms are 729 and 696 respectively
then the 28th term of that A.P. is

A)44 B)33 C)22 D) 28
6) 15thtermofanA.P.8,16,24,32, .....cccevvvvenneen. 1S
A) 120 B) 112 C) 121 D) 118
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7)

8)

9)

10)

11)

12)

13)

Ifa, 13, 17, b are consecutive terms of an A.P. then value of ‘a’ and ‘b’ will be

A) 8 and 20 B)2and 19
C) 7 and 21 D)9 and 21
4,x, 10 are in A.P. The value of x is

A)9 B) -9,

)7 D)8

Ifthe first term and last term of an A.P. are a and a then the sum to n terms will be

A)SHZ%[a-an] B)SHZ%[a-aH]
C)SHZ%[aJran] D)SHZ%[aJran]
The roots of the quadratic equation 9x*—49 =0 is

A % B) £\

C) + % D) + %

The roots of the quadratic equation ax®>+bx +c¢=01s

A) x=-b+Vb’>+4ac B) x= -biVb’>—4dac
2a 2a

C) x= -b*yb?+4ac D) x= bxyb*-4ac
a 2a

On solving the quadratic equation x*—12x+20=0 by factorisation method then the middle

term —12x can be split as
A) —10x and -2x B) —5x and +4x
C) +10x and —2x D) +5x and —4x

The discriminant of the quadratic equation x>—4x+3=0is
A)-28 B) 28
C) -4 D)4
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14) Inthe given figure if |B =90°, A
and Cosec C=V2 Then the |A=

A) 450 B) 30°
C) 15° D) 60°
3 C
B
15) Sech= % the value of (1+tan26) is
13 12 169 144
A) 13 B 13 O D) 150

16) Sin (A+B)=1 and Cos (A-B)= Y3IfA +B<90° then value of A and B are
A) 45 and 45° B) 30° and 90°
C) 45° and 60° D) 30° and 60°

17) In the given figure A ABC [ B =90°,
AB = 10cm and [C = 45°

the lenth of BC is g
A) 1042 cm B) 10cm =S
45

Q) \/lzrocm D) 5vV2 cm B_l 7 ( e
18) Correctrelation among the following is

A) 1+Sec’A =Tan’A B) Sin? 6+ Cos*0 =0

C) Sin’6 — Cos*0=1 D) Cot’0+1=Cosec’0
19) Distance between the point (X, y) and origin is

A)d= x*y? B) d =\x*+y*

C) d =x>y? D) d = x*—y?
20) Distance between the points A (2, 3) and B (6, 6) is

A) 25 units B) 7 units C) 5 units D) +/5 units
21) Inthe given graph ™

length of AB is 4 -

A) 5 units G J I —— B(4,3)

B) 7 units ? 7 |

C)5 units ] N

. X
D)V7 units AlO Il é 3' 4I ’
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22) Ifapoint P(x,y) divides the line joining the points B (x,y,) and B (x,, y,) in the ratio m :m,
then the candinates of the point P is

23)

24)

25)

26)

27)

A) mx,-mx, my,—my, B) mx,tm,x, —my,tm)y,
m, +m, m, +m, m, +m, m, +m,
)] mpx,+m,x, my,tmy, D) m, X, —myX, my,—m,y,
| m,—1m, m,—m, | | m,—m, m -—m, |

In the given frequency distirbution, class interval which contains the mode is .....................

Class Interval Frequency

5-15 3

15-25 4

25-35 8

35-45 3

45-55 2

A) (5-15) B) (15-25) C) (25-35) D) (35-45)

The mean of the marks scored by the student in several subjects is 80. Total marks in all the
subjects is 560, then the number of subjects is

A)S B)8 C)6 D)7

The median and mode of a given frequency distribution is 32 and 30 respectively then
the mean of the data is .................

A) 66 B)32.5 c C) 31 D) 33
In the given figure if B =90°,
AB=12cmand AC=13cm then em
length of BCis.................
A)5cm B)4cm
C) 7cm D) 6cm |
B 12cm A
P
In APQR, XY ||QR
PX=3cm,PY=4cmand YR =2CM X Y
Then length of XQ =
A)2cm B)2.5cm S -
C) 1.5cm D)3cm
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28)

29)

30)

31)

32)

33)

34)

AABC ~ ADEF if the ratio’s of their areas are 64:100 and EF = 16cm then the length of
BCis

A)12.8cm B) 13.2cm C) 15cm D) 15.5cm
o D C ~
In the figure AABO ~AODC N N70° 4
o X 125°

IBOC = 125 and |CDO = 70°
then measure of |[DCO is

<A B 7
A) 125° B) 55 C) 70° D) 50°

On observing a car from a top of a 50 3 mtr high building, the angle of depression of the car
is found to be 60°, then the distance of the car from the foot of the building is

A) 20 mt B) 50+3mt C) 50 mt D) 150mt
3

In the given figure | ADO =35°

then measure of [BOD = .....................
A) 65° B) 55°

C) 145° D) 135°

The tangents drawn at the ends of the diameter of a circle are
A) Perpendicular B) Intersecting C) Coinciding D) Parallel

F
If O’ is the centre of the circle then /<\
diameter of the circle is A B

A) OF B)AB

C)CD D) XY

A Student divides the line segment AB =10cm
in the raito 3:2 by construction.

Lenght of AD and DB by calculation is
A)6.5cmand3.5cm

B)Scmand 5 cm

C)6 cmand 4 cm

D)5.5cmand4.5 cm
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35)

36)

37)

38)

39)

40)

Fromapoint Scm away from the centre of the circle a tangent of length 4cm is drawn. Length
of'the radius of the cirlce is

A) V3 cm B)2cm ¢)9cm D)3cm
Formula to caclulate the volume of a sphere is 2

A) % mr? B) % mr? C) % nr? D) % nr?

Formula to find the volume of the given solid

| 2
A) mrl + 2mr? B) = mr*h + = mr?
3 3 1
1
C) nr*h +— mr D) mrh + 27
3 -

The perimeter of the base of the cone is 147em then its radius is

A)7cm B)3.5cm C) 7ncm D)49 cm

The hight of a cone and radius of its base are 24cm and 7cm respectively. Slant height of the
cone is

A)23cm B)20cm C)25cm D)21cm

Total surface area of a sphere whose radius is 7cm is

A)514cm? B) 616cm? C)514cm’ D) 616cm?

> e sk sk sk s sk s ke s skosk sk skokosk ok
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DDPI OFFICE - DK MANGALORE - BEO OFFICE
MANGALORE NORTH

2020-21 SSLC EXAMINATION
MCQ BASED MODEL PAPER -3

(SUBJECT: MATHEMATICS (MEDIUM ENGLISH))

Subject Code : SIE Time : 1Hour
Total Questions : 40 Max Marks : 40

Note: Four choices are given for each of the question / incomplete statements. Choose
the correct answers and shade the correct choice in the OMR given to you with
blue/black ball point pen.

1) Value of x and y in the given pair of linear equation x+y=6 and x—y=2 is
A)x=4,y=2 B)x=-4, y=2
O)x=4,y=-2 D)x=-4,y=-2

2) Tenthterm ofthe A.P. 3, 8, 13, 18-------- 18
A) 135 B) 48 C) 45 D) 35

3) Sum of first 20 terms of an A.P2 + 7+ 12 + ----- is
a) 109 B) 450 C) 380 D) 990

4) Ifthe firstterm of an A.P. is ‘a’and last term is a_then the formula to find the sum of n terms
(S,)1is

A)S=2 [a-a]B) S =21 [at+a] C)S=D"ata] D)S ="Taa]
n 2 n n 4 n n 2 n n 4 n
5)  2,x,10arein A.P. the value of x is
A)6 B) 12 C) 20 D) 10
6) Sum of 3 terms of an A.P. is 48 then the middle term is
A)8 B) 24 C)32 D) 16
7) Ifapair of linear equations in two variables have infinite solutions then the lines representing
the two equations will be
A) Coincide B) Parallel C) Intersecting D) Perpendicular
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8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

If the lines of pair of linear equations in two variables are perpendicular then the correct
relation between the ratio’s of their coefficients is

a'l_bl_cl a1 bl C1
N5 e T R N o
a_b ¢ a b _¢
0% %7T D) 3, 7% T,

The value of x and y in the equation 2x—y=2 are
A)x=4,y=2 B)x=2,y=2 C)x=3,y=2 D)x=-2y=2

Coefficient of x? in the quadratic equation 8x*—x+7=0is
A)8 B)-8 C)-1 D)7

If one root of the quadratic equation (2x-3) (x—1)=0is 3 then the other root is
2

2 _ =3
A) 5 B)-1 O)1 D) >
The standard form of the quadratic equation 4x—3x*=5 is
A)-3x*—4x-5=0 B) 3x?+4x—5=0
C) 3x*—4x-5=0 D) 3x*—4x+5=0

The roots of the quadratic equation 2x?>~7x+3=0 are
A)x=3 and x=- B)x=3 and x=
C)x=-3 and x="2 D)x=-3 and x=—"2

Discriminant of the quadratic equation 2x*+x—4=0 is
A)3l1 B)-31 C)33 D)-33

Value of Tan45°+ Cot 45°is

A)2 B) % 0)1 D)0
If 5 secA =12 then value of CosA is
-12 5 12 -5
A) 5 B 12 © 5 D) 12
The angle of elevation of the sun if the ratio of the length of the tree and its shadow is
1 .
I: = 1S ........
V3
A)30° B) 45° C) 60° D) 90°
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18) Distance between the origin and the coordinate point (x, y) is

A)d=x*+y? B)d=Vx—y> o) d=Vx+y2  D)d=x>y?
19) When a tree breaks due to the storm and its top A A
touches the ground it forms a right angled triangle. é
The tip of the tree forms an angle of 60° with the 2
ground. Ifthe tip of the tree is 20mt away from the %
foot of the tree then the length of the broken part of E
the tree is =y
s
A) 403 mt B) A0t

V3
C) (40 +V3)mt  D)40mt

<

20) Distance between the co-ordinate points A(2, 3) and B (6, 6) is
A) 5 units B) 7 units C)V 7 units D) V5 units

21) Co-ordinates of the midpoints of line joining the points (2, 3) and (4, 7) is
A) (-3.-5) B) (6, 10) C) (-6,-10) D) (3,5)

22) Areaofthe AABC whose vertices are A(0,4) B)(3,0) C)(4,6)is ..............
A)22cm? B) 11cm? C) 44cm? D) 14cm?

23) Median of the scores 10, 17, 18, 13, 1518 weecvveerveeennnnne
A) 17 B) 18) C) 15 D) 13

24) The mean of a given ungrouped data is set of scores is X=8 and sum of all the scores is
2x=120 then the number of scores will be .............

A) 12 B) 10 C)8 D) 15

25) Formula to calculate the mean of a grouped data is

2fx 2fi
A) x=21010 B) x=
)%= ) %= 5y
C)x=2Xf x, X Zf| D)x=Zfx —Zf
26) Midpoint of the class interval (100-120) is,
A) 100 B) 110 C) 105 D) 120
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27)

28)

29)

30)

31)

In A ABC, DE || BC the incorrect relation among the following is

a)AD _AE o AD _AE A
DB EC AB AC
D E
AD _ DE AD _ AE
928 ~8c P EC "B R
B C
AB 2

A ABC ~ A DEF BE = 3 then the ratios of their area is

A)9:4 B)4:9 C)4:6 D) 6:4

In the given figure ‘O’ is the centre of the i

circle then the secant is
A)OA B)PB

C) PC D)DE

In the given figure ‘O’ is the centre of the circle
AB =3cm, DE=4cm then length of BD is o W0 &
A)4cm B) 7cm T e
C) 12cm D)3cm | !

) ) e

Aline segment AB = 6¢cm is divided in the ratio 3:2. So among the following the correct
construction is
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32)

33)

34)

35)

36)

37)

38)

39)

40)

A tangent is drawn to a circle of S5cm from an external point which is 13cm away from the
centre of the circle then the length of the tangent by calculation method is
A)llcm B) 12cm C)12.5cm D) 12.8cm

To acircle of radius 4cm tangents are constructed such that angle between the tangents is 60°
then the length of the tangent is ..........c.o.c......

A)2+3cm B) 8V3 cm C)4vV3 cm D) 6\3cm
Pythogorean triplets which forms a right angled triangle is

A)24cm, 7cm, 26cm B)23cm, 7cm, 25¢cm

C) 24cm, 9cm, 25cm D) 24cm, 7cm, 25¢cm

‘O’ s the centre of the circle BC is the
diameter |ﬁ = 50° then the measure
of [BCA=........

A) 40° B) 50°

C) 90° D) 60°

Formula to calculate total surface area of a sphere is
A) mr? B) 3mr? C) 2nr? D) 4mr?

Perimeter of a right circular cylinder is 44cm and its height is 10cm then its curved surface
areais
A)220cm? B) 440cm? C)44cm? D) 110cm?

Ifthe radius and height of a right circular cone and right circular cylinder are equal then the
ratio of their volumes is
A)l:3 B)1:9 C)9:1 D)3:1

Formula to find the curved surface area of a frustum of cone of height ‘h’ and slant height ‘I’ is
A) 1t (r +r)l B) 7 (r—r)I C) m(r +r)l D) 1+ (r,+r)l

Three spheres of radii 6cm, 8cm and 10cm are converted into a single metallic sphere. The
radius of the newly formed sphere is

A)12cm B) 10cm C) 13cm D)llem

s ke sk skeosk skosk sk sk
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BLOCK EDUCATION OFFICE, MANGALORE
SSL.C. EXAMINATION - 2021

Time: 1hrs

Model M.C.Q. Question Paper (01)
(Answer Key) (English)

Marks; 40

) A)x=2,y=2
2) Ox=7,y=3

3) D) 5x%16x+12=0

4) B) 3x+5y=25and
6x+10y=50

5) B)27

6) A)39

7) D)11and 19

8 OS5

9) C) Sn=n(n+1)
2

10) D)+ 8
5

11) B) ax*+bx+c=0
12) A)-10x and -6x

5
==X
13) D) 8+ v

14) A)|Q= 60"
15) C) 64
225

16) D) 2
17) B) 10cm

18) D) Tan® = Sin6
Cos6
19) B) 4 units

20) B) 5 units

21) A) 4,2)

22) By [X,0,9) + X000 + X0,
23) C) 40-60

24) D) 16

25) D) 56

26) A) 8cm, 10cm, 12cm
AD_ AE

27) ©) EC DB

28) B)7:9

29) B) A.A.A Criterion
30) C)60°

31) B)70°

32) D) Right angle
33) B) CD

34) C)24cm

35) D)4cm

36) D) 308cm?

37) B) 2rnr’+2nrh

38) A)% mth (r 412 41,1
39) C) 154cm?

40) D) 6cm
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BLOCK EDUCATION OFFICE, MANGALORE

S.S.L.C. EXAMINATION - 2021
Model M.C.Q. Question Paper (02)

(Answer Key)
Time: 1hrs MATHEMATICS Marks: 40
1) A)x=6,y=3 21) C) 5units
2) C)x=8,y=3 22) B) [m‘r:f;zx‘ mgfizzy‘ ]
3)  B)x>-12x-20=0 23) C)25-35
4) B)x+2y=4and 2x+4y=12 24) D)7
5) B)33 25) D)33
6) A)120 26) A)4cm
7) D)9and?21 27) C)1.5cm
8 OC)7 28) 12.5cms
9 ©)S, =% [a+a ] 29) B) 55
10) D) + % 30) C)50 mt
11) B)x= -b+/b>—4ac 31) B)55°
12) A)—-10xand —22ax 32) D)Parallel
13) C)—4 33) B)AB
14) A)45° 34) C)6cmand4cm
15) ©) % 35) D)3cm
16) D) 60° and 30° 36) A)% _—
17) 10cm 37) B) %nrzh + % e
18) D) Cot’0+1=Cosec’0 38) A)7cm
19) B)d=Vx*y? 39) C)25cm
20) C)5 units 40) D)616cm?
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BLOCK EDUCATION OFFICE, MANGALORE

Time: 1hrs

SSL.C. EXAMINATION - 2021

Model M.C.Q. Question Paper (03)
(Answer Key) (English)

Marks; 40

1) Ayx=4,y=2
2) B)48

3) D)990

9 O [ara]

5) A)6

6) D)I16

7) A) Coinciding
8) O

9) B)x=2,y=2
10) A)8
1) C)1
12) D) 3x?—4x+5=0
a1

13) B) x=3, X—E
14) B)-31
15) A)2
16) B) 2

) B) 5
17) C) 60°
18) ¢) d = x+y?
19) d) 40 mt

20) A) 5units
21) A) 5units
22) B) llcnv
23) C)15

25) A) x = ngfl

26) B) 110

AD _ DF
27) C) BB ~“BC

28) B) 49
29) D) DE

30) B) 7cm

31) C) iy
['}]

fy
4

32) B) 12cm

33) C)4V3cm

34) D) 24cm, 7cm, 25cm
35) A) 40°

36) D) 4nr?

37) B) 44cm?

38) A) 1.3

39) A) m(r+r)l

40) A) 12cm
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